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POPULATION STUDIES
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

Read the paragraph given below and answer the questions (1to 4) :

Demographic trends in primitive populations are influenced not only by food technology
but also by health, transport, war technologies, and by the system of organisation, which could
be called “administrative technology”. In the past health technology was so primitive that many
well-fed populations had low birth rates owing to endemic venereal disease and malaria, and
high mortality rates, particularly for infants. The main technique of avoiding contamination by
epidemic disease was to isolate oneself as much as possible from the source of contamination by
such procedures as abandoning the old village and building a new one in another place.

Improvements in the means of transport, which open up new regions for human contacts,
are likely to raise mortality rates by giving greater sway to the spread of epidemics. It is true that
improvements in transport technology might sometimes reduce mortality by facilitating the
supply of food to a famine-stricken region, but since such improvements make it easier for a
conqueror or an indigenous ruling class to move food away from the region where it is
produced, they could also result in reduction of food available for local population, with
negative effects on demographic trends.

1. Demographic trends in primitive populations are influenced by
(1) Food and health technology
(2) Food transport and war technology
(3) Health, transport and war technology
(4) Food, health, transport, war and administrative technology

2. Inthe past, even well-fed population had low growth rate because
(1) Birth rate and death rate was low for their better nutrition.
(2) Death rate was high for high level of contamination.

(3) Birth rate was low owing to venereal disease and malaria and high death rate of the
infants.

(4) Better access to family planning methods to keep the growth rate low.

3. Improvement in transport technology would effect mortality by
(@) spreading of epidemics by opening up new regions for contact.
(b) providing low food availability to local food producer.
(c) providing high food availability in the areas of famine.
(d) transferring health related information in the affected areas.
Select the correct answer from the codes given below :

Codes :
(1) (a) & (b) are true. (2) (b), (c) and (d) are true.
3) (a), (b), (c) are true. (4) (a), (b), (c) and (d) are true.
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SHEEAT eI
T9-9A — 111

9 : 59 UvA § UeEN (75) T-aeed IR & | TS TR & et (2) 3Tk € | |t v A €

T T Uigw Y 36 SMER W Ued ¥, 1 - 4 % IT) ST

T SHEE § SRl TGt 7 [ @i Wi, dfes @, I, I8 Wi 3T
TS S JUCH I off, T “Temshg Wit Fel S Thar § — & off wifed it off | gd § e
THRITTeR! ST STfaehiad of o e guifad STHE@sti § off T 9 I 31T Jeiiar & HRoT =
S X 31 359 §og IY, W Y RIS § A @l off | W 5 A ¥ 99w g qawhh
Ig o o STt b W9 &, 310 37 ! W07 o A & I o ST ST, NG QAT 1 DIt 8 ST
ST a8 S 3T ot e & |

ITATATT 3 TTEAT F g€ ST A b o T &7 Ua7 60 & | THY FemR S W0 o ot b
T ST BN, ST G X 9 T TehaT € | 98 T ¢ o A1 WRfiTeh! ot S+ifa -t Yo bt
& & foTT @rer Sufq gifved X gogat 9 ff Y Fehell & | Ik g8 ST, Tastar a1 S gt
7 o TTT TTer | i 379 3cUTe B § §¥ el o1 |l T SA & | THY J@l Sl SHae & fog
SUCTS W AT B Bt 31 Tehelt €, TSTHehT SHifcheh! TGl X THRIcCHS TS Tg Fohell & |

1. U S § ST Fgtaar e metad gt o 2
(1) T U @ Wit 9
(2) W@, AAEE T g UrenfTen @
(3) TR, AT AT I Wrenfirent &
(4) @, TR, AAE, g5 a1 TRTEhE HEnfies o

2. I 99T H gUiftq seEnet 7 off fer dgfe 53 3@t St o, e
(1) S 3T 3R Gog T 39 gk TuoT & foiw e off |
(2) TV F IeF W % [T g <R 3= o |
(3) N UM 3R TeIRRAT Sl ooTe & 9 3T FY 3R Fpsti o gog 3 3= off |
(4) Tgtg X = T & fow aRaR st & Ul d dga] 6 |

3. AT W S ST Gogadt o fhT Wb T S 2
(a) TUH P T & P Yo T TR ST I T HeATd
(b) TAHIT TRT ST & [T G Tt ST HTHT
(C)  STeRIeT TR &¥T | WTer WIHHT Sl SUCTST @Rl
(d) i &3 o T Geet gannd IR HY

Tefatad <2 %2l § 9 T&l e 1 A DT

ag—e::

(1) (a) R (b) W& | (2) (b), (c) 3 (d) T & |
(3) (@), (b) AT (c) W E | @) (@), (b), (c) 3 (d) W& |
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4.  The primitive technology to control epidemic was to
(a) isolate the source of contamination.
(b)  purify the source of contamination.
(c) not allowing people to move in new geographical region.
(d) shift the affected person to hospital.

Codes :
(1) (a) & (b) are true. (2) (b), (c) and (d) are true.
(3) (a), (c) and (d) are true. (4) (a), (b) and (c) are true.

5. Which among the following are considered to construct Gender Empowerment Measure
(GEM) ?
(@) Political participation and decision making
(b) Power over economic resources
(c) Decision making on health care
(d) Economic participation and decision making
(1) Only (a), (b) and (c) (2) Only (b), (c) and (d)
(3) Only (a), (c) and (d) (4) Only (a), (b) and (d)

6.  According to Census of India 2011, marginal workers are categorised as follows :
(1) Involved in 3 months and 6 months of work duration.
(2) Involved in for each month duration of work.
(3) Involved in only upto 6 months duration of work.
(4) Involved in every two months duration of work.

7. The concept of urbanisation has spread from :
(1) Mesopotamia civilisation (2) Nile valley civilisation

(3) Harappan civilisation (4) None of the above

8.  Match name of the Scholars given in List — I with the concepts they have introduced given

in List—1I.
List— I List—11

A.  Julian Simon I.  Ultimate Resource
B. Ester Boserup  ii. Tragedy of Commons
C.  Garrett Hardin  iii. Population Bombs
D.  Paul Ehrlich iv. Agriculture intensification
Codes :

A B C D
@ v odiom i
(2 i i [\
(3) i v
4) i iv i i
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4, TEMR ST AT HEA0T A A e off
(a) TIUT & A Hl TAT-STHT L]
(b)  FSHT o AT Rl L HA
(C) AR ol AT o &= T ST i W ol a1
(d) MR AR Bl ST IS

%he
(1) (a) R (b) W& | (2) (b), (c) 3 (d) T & |
3) (a), (c) AR (d) W& | 4) (), (b) X (c) W& |

5. oiNTe HRTRIIH0T 10 (STE.UH.) & o7 § fefated 5 9 g v faer o s & 2
(a) TSI IRTRRT 3R Aife ferRor
(b) i GarA W w
(C) =g S@WIeT & 9 § it feRoT
(d) 3T TRRY 3R Aif ferRor
(1) 9 (a), (b) 3R (c) (2) %= (b), () AR (d)
(3) e (a), (c) 3R (d) (4) %9 (a), (b) R (d)

6. R i 2011 Tt STIUFT &% SR fehT AT bl | e s it 7 7@ 7 ¢ 2
(1) 3 HEMT 3R 6 TElAT 1Aty 1 Hr
(2) i A =i 37aty H HE
(3) Ta% 6 HEIHT a% i 3TaY i H
(4) O HE H A H HE

7. TSN St STEEROT I THR Fel 9 g3 ?
(1) BRI 6 T (2) et Tt @ EE
(3) &S I HAAT (4) ST H T HIE off Tl |

8. g — | ¥ XU W sreEanan o A H A — || F & T I STERNST & T FHI HiT,
et 378t IR foham |

= - | = - 1
A. e |Ed i T GO (STeeme E)
B. IRX WY ii. ST Sl P AR (SIS S HiE)
C. WMeeared iii. ST I
D. Ul sgfora iv. I TR
o

A B C D
Q) v i i i
@) Qi i v i
@) Qi i v i
@ i v i il
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10.

11.

12.

13.

14.

15.

The settlement developed along the riverside or along the railway track tend to develop :
(1) Nuclear pattern (2) Linear pattern
(3) Dispersed pattern (4) Star shaped pattern

Which among the following is not considered in case of Central Place (CP) ?
(1) CP retails goods and services to surrounding areas.

(2) CP will have threshold to provide services.

(3) CP will have hierarchy in services.

(4) CP will have population of different purchase power.

A country currently has a population of 50 million and an annual growth rate 2.5 percent.
If growth rate remain constant, how many years it will take to double its population ?

(1) 25years (2) 28 years
(3) 31years (4) 35years

Which among the following indicator is not used for the construction of the Human
Development Index ?

(1) Expectation of life at birth

(2) Adult literacy rate

(3) G.D.P. per capita (PPP Per capita US $)

(4) Percentage of population below poverty line

Which among the following indicator is not used for estimation of Human Development
Index (HDI) ?

(1) Contraceptive prevalence Rate
(2) Along and healthy life

(3) Access to knowledge

(4) A decent standard of living

Which among the following type is SRS life table ?
(1) Complete (2) Cohort
(3) Period (4) Actuarial

Which among the following is not the correct approach of the ‘Reproductive, maternal,
newborn, child and adolescent” (RMNC+A) programme under the National Rural Health
Mission (NRHM) ?

(1) Continuum of Care

(2) National Iron + Initiative

(3) Comprehensive screening and early intervention for defects at birth

(4) Partnership with Panchayati Raj Institutions

Paper-I111 6 J-15-16



10.

11.

12.

13.

14.

15.

T % TR a1 YoTel Uedt o -1 Taehiad st fehdeh e b 31 U9 il € ?
(1) F=eh UfaEE (Gt o) (2) g ufaam (faAf=R te)

(3) eE ATeT UiqaH (feuue Uee) (4) TRHR UAHH (RRIE Te)

FHEE I (@) & g ° fEfaiad 9 9 e w o 7@l foman sar &2

(1) = T (G ST o &5 H axqel ue Jarett i g SRl 37 € |
(2) HEE T W HATS B TG FH Bl FgeAST e |

(3) M TM W QA3 HT USTIHT (RIhT) ST |

(4) FH=T W R N 5T T STelt S g |

Tt I91 Bt STEET 50 fafer € 3 STeh! A ghg 5¥ 2.5 Uiaerd € | 3 I8 gy 3¢ fer
e ¥ A S TR S A e o 2

(1) 25=d () 28aW

3) 31=d 4) 35

A [T erhish 1 a9 § Fefeiad | 9 5T Fobdeh bl SUANT el fohaT ST & 2
(1) S W STeA g

(2) T WERAT T

(3) Wid =t ST, (I Aot dr.dn ., 3R TTeR)

(4) RIS @1 % A D STHEEAT S A

o o o (TH.E1L3TE) & e § FEfarad 8 9 59 Hohds &1 SUanT Tal fohan
ST & 2

(1) TR 3T B T 3T

(2) U e R @ e

(3) 3 T TET

(4) ST T TFH A TR

frefefEd § | S 91 YR T, 3R.0Y, Siiem difeishl € ?

1) o (2) HE (FER)
(3) aty (4) STeRiTHH (TR

frfefad # ¥ ®F TR AT W e (T 3R TE UH) 3 3T S, AIg, Fed, S
o1 feheIR (IR U U Y + W) T TEl SuIT Tél & 2

(1) <E-XE H AaA

(2) T it +

(3) S % GHT WIS Fl AF A Td gqed

(4) AT TS I % AT KR
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16. According to NFHS-3 which of the following is current use of spacing methods in India :
(1) 5% (2) 10%
3) 12% 4) 15%

17.  Which one of the following statements is true for demographic transition stage-I ?
(1) High birth rates, high death rates, and low growth rates.
(2) High birth rates, declining death rates, and rising growth rates.

(3) Continued decline of death rates, declining birth rates, growth rate decline from high
to lower levels.

(4) Low birth rates, low death rates and low growth rates.

18. According to the SRS Bulletin September 2014, the natural growth rate of India is,
(1) 10.4% 2 12.4%
3) 14.4% 4) 16.4%

19. Match names of the scholars given in List — | with the contribution made by them in the
area of Demography/Population studies given in List — Il below :

List—1 List— 11

(@ John Graunt (i)  Natural and political observations made upon
the Bills of Mortality

(b) Thomas R. Malthus  (ii)  An Essay on the principles of population as it
affects the future improvement of society

(c) A.M.Carr-Sunders  (iii) The population problem
(d) P.K.Wattle (iv) Population problem in India
Codes :
@ ) ( (@)
@ (i) @i (>v) ()
2 (@) @) (i) (iv)
@) (i) (v) () (i)
@) (v) @) (@) (i)

20. The population Data Committee was set-up by the Government of India in which among
the following years ?

(1) 1940 (2) 1944

(3) 1948 (4) 1952
Paper-I111 8 J-15-16



16. T UH U UF — 3 % AR, M=faiad § 9 &9 YR § SIcRTe Tgiaal sl sar ST € 2
1) 5% () 10%
(3) 12% 4) 15%

17. T=feRad o 9 $F 91 U HUT SHARETHE GhH0T w011 & IR H T@l ¢ ?
(1) SHESTH, IHIY N IR =T glg )
(2) =9 S T, el gog 3 SR aadl gtg
(3) TG H M TRee, gedt 5 X, Sea 9 X TRl 6 3R Jig ) § fRee
(4) FESTR g iR =g

18. o 2014 % TH 3R UH (SRS) FaifeA % TR TR i UhHidh g 3 F41 € ?
(1) 10.4% 2) 12.4%
(3) 14.4% 4) 16.4%

19. gt — | H T 7T sreAArSN & A B G — || H KT T SHAGIRID/STHGEAT ST o 37 |
3 TR % Q1 GHTT iU

=it - | =t -
(a) <A U (i) TRt UE Wicidiehel Sestavid 0 24 § foaeg
(b) oTHE IR, HIIT (i) “T9 ©¥ 3 g Ufaueq 31w 9igere ™ Osf 32
FFH T TR THEHE A e
(€) TUH FRHSH (i) T TR e
(d) W& area (iv) “OMeivH Weetd e Sfear”

T4

@ ® (@© (@
@ () (i) (v) ()
@ (@ (i) (i) (v)
@) (i) (v) (1) (i)
) (v) () (i) (i)

20. 9Rd W& N Hefefad & 4 69 a0 § SHO©n el |Hfd SO @ TE
of ?

(1) 1940 (2) 1944
(3) 1948 (4) 1952
J-15-16 9 Paper-I111



21.

22.

23.

24.

The quality of data can be ascertained from the value of the Whipple’s index. Match index
value in List — | with data quality in List — Il and select the correct answer using codes
given below :

List— 1 List— 11
(@ 100 or less than 105 (1) Highly Accurate
(b) 110 or less than 125 (i) Highly inaccurate
(c) 125 or less than 175 (ili))  Not accurate
(d) 175 and above (iv)  Moderate

Codes :

(@ () () (d)
@ @ (i) (i) (iv)
(2 @) (i) (v) (i)
@ @) (v) (ii) (i)
4) (@) (i) (v) ()

Which of the following data are required to compute a life table ?
(@ Age specific death rates

(b)  Age distribution of population

(c) Number of deaths

(d) Number of deaths in different ages

Codes :
(1) (a)and (b) (2) (b)and (c)
(3) (d)only (4) (a)only

Census Commissioner of India has specified a few criteria to define an urban area. Which
is the correct number of such criteria ?

1 1 (2) 2
@ 3 4) 4

Assertion (A) : Lower temperatures are more detrimental to older populations.

Reason (R) : Temperatures below 20 to 15 °C cause deaths due to cardiovascular diseases
and malaria among older populations.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Paper-111 10 J-15-16



21.

22.

23.

24.

feaaeTsh qashieh % Waed § 3AHel & qUe Sl S Wehdl & | gE-l 7 KT T gEeih
UfHea T gl 11 i STHST ToTerT & AT HL | F o TeFd ¥ el I FH =937

= - | = - 1

(@ 10037105 9 %A (i)  Ftus g
(b) 110=m 1259 %A (i) oTeE owE
(c) 125aM1759 FH (iii) T T
(d) 17531 389 IR (iv) Head/am=
ETE

@ ([ () (@
@ @ ) (i) (iv)
(2 @) (i) (v) (i)
3 @ (v) (i) (i)
4 (i) (i) (v) ()

Sier difetshT =l G0 o foiT f § | 9 F 3iishg oTevas € ?
(a) 33U fafTe gg X
(b) <T@ T 3 foaaRor

(c) g = FE

(d) o= sui o geg % GEn

@':

(1) (a) 3R (b) (2) (b) 3R (c)
(3) A (d) (4) %3 (a)

&L &7 % FEUT % AU R & ST e | B HAifedt S @ € | 5 Hiiedr w Tl
T 1§ ?

1 1 (2) 2

@ 3 4) 4

e (A) ; = T g SHEE % T 9 #eRE € |

& (R) : 20 - 15°W. T = 1 AOHH Ig STHEUE § g3 afeAehl UM qel TAar & i+ arelt
T T HROT TAT T |

H:

(1) (A) 3R (R) I W& &, T (R), (A) FF el AR FAT T |

2) (A) 3R (R) IHT T&l &, W (R), (A) T Fel AT el el |

(3) (A)TE RR)TEIE |

(4) (A TTE, W(R) W& |
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25.

26.

217.

28.

29.

30.

Which of the following method is used by the Expert Committee for population projection
in India ?

(1) Geometric method (2) Exponential method
(3) Component method (4) Logistic method

How many number of categories of diseases have been classified under International
Classification of Diseases (ICD) 10" Revision ?

(1) 19 (2) 20
(3) 21 (4) 22

What are the different criteria for the evaluation of family planning ?
(@) Goal effectiveness

(b) Realized efficiency

(c) Potency effectiveness

(d) Capacity effectiveness

Codes :
1) (@), (b) (2) (a), (b), (c), (d)
) (@), (d), (c) 4 (@, ()

According to SRS (2010-13) cause of deaths statistics, top ten causes of deaths accounts
for almost

(1) 70% of all deaths (2) 80% of all deaths
(3) 90% of all deaths (4) 100% of all deaths

Assertion (A) : Population projection by component method gives better estimates.

Reason (R) : Component method of projection includes both age and sex composition of
population.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

According to NFHS-3, Which of the following range represents Contraceptive Prevalence
Rate (CPR) by modern methods for India ?

(1) 35% —40% (2) 40% —45%
(3) 45% —50% (4) 50% —55%

Paper-111 12 J-15-16



25.

26.

217.

28.

29.

30.

TR | STHE U907 & feru foeost 9fafa g i 9 ugid o S € 2
(1) oo agfa (2) =R ugha
(3) TeH UBM (4) THOT Ui

SRIN TT afiehRoT (ICD) % 10 o YARIeT0T o 3FaR, fefie=T Tt =t feberit Siforalt g w8 € 2
(1) 19 (2) 20
() 21 (4) 22

URAR IS % Jodieh & fore fafi= swatfeat = & ?

(a) T Iy

(b) T s

(c) wm=A wIferar

(d)  eFre SR

%<

(1) (a), (b) (2 (@), (b), (c), (d)
@) (@), (b). (c) 4) (), (c)

2010-13 & TH 3R TH (SRS) & FER, Jg & 3Tehel & HRUI H F TH qa9 I HROT {oha
e g3 o fou SR € 2

(1) T 9 & 70% & fetw (2) T TG F80% * Tow
(3) T g & 90% F fetw (4) A TG F 100% & fow

AU (A) : T2 Tsid T BT ST ATl SIS T&790T SEal 3T 3T € |

A% (R) : U&7 T 2 Ui | SIS % 3 R ot T bt Afwferd fovar S &
FHT:

(1) (A) 3R (R) I W& &, T (R), (A) FF Tel AR FAT T |

(2) (A) 3R (R) 4T el &, Al (R), (A) T T&l ARAT el el |

(3) (A)TE WR)TEIE |

(4) (A) 7o g, 3R (R) W& |

7 U% U9 w8-3 (NFHS-3) &% oF9R, = & ¥ & & S@cl ¥R § 2y Taid el
RIS Toe SY (P Maeid 32) T Uidiree sl & 2

(1) 35% —40% (2)  40% —45%
(3) 45% —50% (4) 50% —55%
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31. Which one of the following will be affected according to Coale (1986) if a country
achieve below replacement level of fertility ?

(1) Demographic effects (2) Social effects
(3) Political effects (4) All the above

32. The total unmet need for family planning in India according to NFHS-11I is
(1) Lessthan 5% (2) 5toupto8%
(3) 8toupto 10% (4) More than 10%

33. Assertion (A) : Some of the studies have shown that low skilled immigrants actually
raised the wages of their less-educated native born counterparts in the surrounding
area.

Reason (R) : The native born less educated persons shifted from manual labour to office
jobs, which paid them higher wages.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

34. Match items of List — | with items of List — Il given below :

List— 1| List— 11
(Human Development (Part of the title of the Human Development
Report by UNDP) Report)

(& Human Development (i)  Work for Human Development
Report -2015

(b) Human Development (i) Sustaining Human progress : reducing

Report -2014 vulnerabilities and building resistance
(¢) Human Development (iii)  The rise of the south : Human progress
Report -2013 in a diverse world
(d) Human Development (iv) Sustainability and equity : A better
Report -2011 future for all.

Codes :
(@ () () ()
(1) () (i) (v) ()
(2 (i) (v) (i) ()
@ @ () (i) (iv)
(4) () (i) () (i)
Paper-I111 14 J-15-16



31.

32.

33.

34.

g T 9T USTH o G TN BN TR U HIT &, o it (1986) & @R, Fefefad # 9
I T TS TS ?

(1) SHEiReThE T (2) T T

(3) TR T (4) S T

T % TF Th-111 (NFHS-III) ®f RuE & 3FER, 9Rar Ham @ $ot snavawar et gfa
R ER

(1) 5%dFH (2) 5% 8% TH

(3) 8% H 10% T (4)  10% & =T

A (A) : F TR 3 @ € o 3160 FereT ettt 7 andd § ST S
% UG % 37eq fHferd T qeere o Foigdl § aeiekl &l § |

TH (R) : 3100 WIfd SIig ToeeT ¢ 812 61 A BIgshd THaRl | 1 - o, f5Tad 3!

I | FEi’! 8 T |

HT !

(1) (A) 3R (R) IHT T&l & T (R), (A) i Tel AR AT ¢ |

(2) (A) 3R (R) I Tl &, Al (R), (A) i Gel e el i |

(3) (A) W g, W (R) Tora 2|

(4) (A)TeT g R (R) W |

T — | 6 T&T W G — || H 3T 7T FET o W1 GHIOAT i

it - | Tt - |1
(FTAE . H (AT fareTe Rate o St 1 W)
e fawm faie)

(@) Wd fo@ Rae-2015 (i) A foera & fole & (@ B gEa
TIAIHC)

(b) wFa faepra RAE-2014 (i) WS WA S Fad ST SRFAATST (G
RiafereieT) & HH AT 3R UfeRTe
faToT (R T o Rt
Feriaicrerst Us fafeet aeew)

(c) wva faera Rae-2013 (i)  TI0T % S9N M 37 ; gAY fave § WG
WA (3 ¥eST 31T T 91« g U 39 ©
AT o)

(d) e fae Ra-2011  (iv)  Sadar 3R =arfadar - 9t & foe o
JE Ao

%< .

@ @ (@ ()
@ () G (v) ()
(2 (i) (v) (i) ()
@) (@ () (i) (i)
@) () (i) (@) (i)
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35. Assertion (A) : Indian towns and cities have high air pollution levels.

Reason (R) : High air pollution levels are due to high presence of automobiles and high
density of population.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

36. Arrange the following states, high to low, by their child sex ratio (age 0 — 6) according to
the 2011 Census data :

(@ Bihar (b) MP

() Rajasthan (d) UP

Codes :

(1) Bihar, Rajasthan, MP, UP (2) UP, Bihar, MP, Rajasthan
(3) Bihar, MP, UP, Rajasthan (4) MP, Bihar, Rajasthan, UP

37. Which one of the following is the top most (Rank-1) cause of deaths in India according to
SRS cause of deaths report in India 2010-13 ?

(1) Tuberculosis (2) Respiratory diseases
(3) Diarrhoeal diseases (4) Cardiovascular diseases

38.  Who among the following was the founder of Family Planning Association of India ?
(1) M.S. Swaminathan (2) Rajkumari Amrit Kaur
(3) J.R.D.Tata (4) S. Chandrasekhar

39. Match the type of indicators given in Column-I with examples given in Column-I1.
Column -1 Column —11
(@ Input Indicator (i)  No. of acceptors of family planning services
(b) Output Indicator (i)  Beneficiaries attending family planning clinic
(c) Outcome Indicator (iii) Births averted due to acceptance of family planning methods
(d) Impact Indicator (iv) Supply of various contraceptives
Codes :
@ O (@ (@
@ @ aGv) (i) (ii)
(2 (i) (i) (v) ()
@ (i) @) (i) (v)
@) (v) @) () (i)
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35.

36.

37.

38.

30.

AU (A) : TRAE HEl SR e H arg UgH0T H W 3 ¢ |
qF (R) : 3T ATl il TS T 31 3= SHGEAT 5 39 3o arg UgHIT H HRUT ¢ |
- T
(1) (A) 3R (R) I T & 377 (R), (A) Ff Tt =Amem o & |
(2) (A) 3R (R) T T &, W (R), (A) Ff T&l =mem F& Fa |
(B) (A)WIE W(R) T |
(4) (A)TEdE AX(R) TEE |
2011 1 STFOFET o AR fofT 3 ud (0-6 a) & W’ # =1 Tt 1 3=a ¥ e A °
T
(@) for (b) me W
(c) T (d) SWwS
T
(1) TRR, ToTE, 967 TR9, STWIRY (2) ST WY, [eR, He TR, I
(3) ToER, 7e US¥, SR WY, TSTRAF  (4) e WR9T, TR, TSTeIM, 3T% UeeT
TG & FHRUT & R § ART 2010-13 3 T IR T (SRS) RUE & MUK, IR ° T 6 9o
ST (ShHIh-1) SHRUT 41 & ?
1) st (2) Vo e A
(3) R I (4) =3 g
fre=fefad o @ i YRA™ TR IRER FHedToT THaueH T G o ?
(1) THAEE WHHmE (2) TTHART 3T HBR
(3) SIAARE T (4) U FEeIER
-1 H ST T Gehashi o THR 1 -1 7 5T 70 TR0 & A gHfd BT |
w - | - |l
(a) IIYC Hhaw (i) URER AR ® WHR F arl ol &

(b) 3MSTYE Tk (i) 9RaR FESE Tl o 3T aret et
(c) U Hehas (iii) IRER FRST ugfaat ot @eR FA % HRUT ST S AHATT
(d) v b (iv) Tafa= mifRiget &t smgfa

T

@ (@[ () (@

@ @ (v) (i) (i)

(2) (i) (i) (v) ()

) (i) () () (iv)

4 (v) (i) (@) (i)

J-15-16 17 Paper-I111



40.

41.

42.

43.

44,

Match the following in the area of internal migration estimation in List — I to List — Il and
select the correct answer using codes :

List—1 List— 11
(@) National Growth Rate (i)  Assumes increase in rate in the population is the
Method same in all the areas of the country.

(b) Vital Statistics Method (i)  In considered population growth and natural
increase in the are (P,,,~P;) — (B - D).

(c) Census Survival Ratio (iii)  An adjustment factor is derived from survival ratio
Method of the region with the standard model country and
backward survival estimate is made.

(d) Life table Survival Ratio  (iv) It uses average mortality conditions of inter-censal
Method period for calculating net migration.

Codes :

(@ () () (@@
@ (v) (i) (i) @)
(2) (i) (v) (i) (@)
@ (@) (i) (i) (iv)
@ () (@) (i) (iv)

Arrange the following states, high to low, by their level of Institutional deliveries (DLJ S-3) :

(@ Bihar (b) MP

(c) Rajasthan (d UP

Codes :

(1) Rajasthan, MP, Bihar, UP (2) Rajasthan, MP, UP, Bihar,
(3) MP, Rajasthan, Bihar, UP, (4) MP, Rajasthan, UP, Bihar,

According to DLHS-III Report, what percentage of pregnant women in India had taken
three or more ante-natal check-ups ?

(1) Lessthan 35% (2) 35% to upto 45%
(3) 45% to upto 55% (4) More than 55%

Which amongst the following is not correct regarding ‘Mission Indradhanush’ ?

(1) To ensure full immunization for children (upto two years) and pregnant women.
(2) To strengthen cold chain equipments in the EAG states.

(3) Itisimplemented in 201 high focus districts.

(4) Special immunization drives to improve the routine coverage in the country.

Who among the following propounded ‘Epidemiologic Transition’ theory ?
(1) Abdel R. Omran (2) Ester Boserup
(3) Philip K. Hooper (4) Warren Thompson
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40.

41.

42.

43.

44,

3TN T o SThei & &7 H gl — | 3R gall — |1 1 GAferd Y | e S Ferddl 9§ Tl
I H T HY |
= - | = - 1

(a) Y foer & UETa (i) I8 AFar € foh S § 9@l o 32 397 % Tt &
T FEE R

(b) el SRS UFIA (i) T 9Far € T S gy 3R MTehias Tgio’l §
(P14~Py) - (B-D)

(C) STFUMT STRSHTerT ST (iii)  HIF TR 397 o |1 &3 Tt ST ST 1 Tk

RCAi) THTAST FRe e ST &, Faeh er ™
STRSHTEIT T U9 3FAM ehTeT ST & |
(d) STe afeTehT STRSTTeaT (iv) 8 SIR-SHIUMT 31afy & s i 3Td gegam 390
3T Ui T ol Tag Tt T o foIT T § |

F:

@ @ (© (@
@ (v) i) (i) ()
(2 (i) (v) (i) (i)
@) @ (i) (i) (i)
@) () (@) (i) ()

=7 Tt Bt STedeTent B g aret uee (DLHS-3) % U5 | S=a | 7 & o0 | fe@nd

(@) fmw (b) W wRw
() T~ (d) SR
-

(Ql).wwm,nwm,%w,wm (2) ST, HET TR, ST VRV R
(3) T UV, TOT, [T, STR USRS (4)  TEA U, TSI, 3T U_¥T, foer

Suetraud-111 (DLHS-111) %t Ruie o gattess YRa | T wfaerd medt afearsti 3 o= a1 di=
T STET IR TS U7 i ShRTE 2

(1) 35% % &9 (2) 35% 9 45% d%

(3) 45% ¥ 55% TH (4) 55% & 3w

fefefEad & | i W U o1 “THeF S5’ & 9 5 W@l el 8 ?

(1) =i (S 9 H W TF) IR MEdt AfectraTt i qor Jfaeior gfved & |

(2) TUSH TG H Hies O ITFIOT Bl GoF T HET |

(3) TSI 201 ITA AN H=d [HT T aTet WAl (BT ®iwd feigaed) | wHaif-ad fear mr |
(4) I H B FAST T FUR A % 7w forere wfqeon sy

ffafEd § ¥ e HemRt faemma shaer fesia (Tusmstiaisten 2o SRl 1 Afaus=
fopam 2

(1) I= R, AEA (2) TEXART

(3) TfeTT . g (4) aRA oGHE
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45. Match names of Scientists in List — | with the years in List — Il for construction of life
table and select the correct answer using codes given below :

List—1 List— 11
(@ John Grant’s Q) 1662
(b) Edmund Halley (i) 1693
(c) Keyfitz (i) 1939
(d) Reed and Merrell (iv) 1975

Codes :

(@ () () (@@
@ @ (i) (i) (iv)
2 (@) (i) (v) (i)
@ @ (i) (v) (i)
4 (v) (i) (i) ()

46.  Which one of the following is not a goal set in National Population Policy 2000 ?
(1) Achieve universal access to treatment for HIV/AIDS.
(2) Achieve 80% institutional delivery.
(3) Reduce IMR to below 30 per 1000 live births.
(4) Achieve 100% registration of births, deaths and marriage.

47. Find the correct order of industrial food system from the following that contribute to the
industrial crisis :

(1) Farming ; deforestation ; transport ; processing and packaging of food
(2) Deforestation, farming, transport ; processing & packaging of food
(3) Transport ; farming ; deforestation ; processing & packaging food

(4) Processing & packaging of food ; transport ; deforestation ; farming

48. The most widely used method of population projection for urban rural areas and
developed by the United Nations is known as

(1) Urban - Rural growth difference method
(2) Component method

(3) Urban Growth method

(4) Rural Growth method

49. What is physiological density ?
(1) The overall population per sg.km. area of productive farming land
(2) The overall agrarian population per sq.km. area of productive farming land
(3) The overall number of inhabitants per sq.km land area
(4) Population inhabiting a metropolitan region, sq.km area of housing space
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45. gt - | 9 53 T SeneRt & A B g - || H 53 T Stiee greit fmior % a3 arer gafed
FHINTT 31T e ST Pl T STFNT FHY Tel TR BT A DINTT ;

= - | = - 1
(a) S uied (i) 1662
(b) UeHE E (i) 1693
(c) e (iii) 1939
(d) e qEr W (iv) 1975

FT

@ ® © (@
@ @ i) (i) (v)
2 (@) (i) (v) (i)
@) (@) (i) (v) (i)
@) (v) (i) (i) ()

46. TfefEd § HH-A1 T SHEE Hifd, 2000 1 oed i T2 fwar a2
(1) TUH3MEH/TSH & TANT & [T Qrewiioes uge st wire
(2) 80 UfqeTd HHCH § STl | TEe BT
(3) Wl 1000 S 9X T919] Teg &< i 30 = AT
(4) <9, g 3R faame & 100 WeTd dstieior st wift |

47. U 9 9 2 T @ UOTel! Sareg, S i Gehe bt 3 o St €
(1) e, FE-TeRRoT, AT, @I T 31 FshHUT 37 UehiorT
(2) THeFIeRRoT, Welt, ATATATd, TTer AT T WsHHOT ST UehionT
(3) T, W, AT, WTEr |THUT ST WshHUT 3T UehioTT
(4) T GTRAT S USHHUT ST YeR(SHT, JTaraTd, e, Tt

48. TR - &L &1 o [0 ST & SHM i Gaitah SATIH Td Fae Uz, [STaeht T §R
foreptaa fepan o, i foh ugfa & A @ ST ST & 2

(1) TR — AT gy R TFia
(2) H<F UFA (HUHE HIS)

(3) TR g TSl

(4) T ghg wsia

49. IR = T § 2
(1) 3EH FT 9 W Ui it fom A, et SHEeEn
(2) 3EH FT Y W Ul i B, For Widex SHEEn
(3) i =t fem et of &1 W et 6t e de
(4) TERE &7 ° ATy & § e S arett uid o 6, shen
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50.

51.

52.

53.

54.

Who among the following said ‘Development can be achieved by transferring labour from
subsistence sector to modern sector ?

(1) Arthur Lewis (2) Liebenstein
(3) Harrod-Domar (4) Ricardo

Match the items in List — | with items in List — Il given below and select the correct code
using codes given below :

List—1 List—11
(@ Infant mortality rate (i) Deaths before live birth
(b)  Pre-natal mortality (i)  Deaths between 4-52
weeks
(c) Post Neo-natal mortality  (iii)  Deaths in first year of life
(d)  Child mortality (iv)  Deaths in 1-4 years of life

Codes :

(@ ([ () (@
@ i) @) @) ()
(2 (i) @@ () (iv)
3 (i) (v) (i) ()
4) (i) (i) (v) ()

Which of the following assumptions are essential for the estimation of fertility by ‘own
children method’ ?

(@) Children ages are reasonably accurate.

(b)  Most of the children live with their mothers.

(c) The relationship of each child to the head of the household is well defined.

(d) Mortality levels are relatively low during the estimation period prior to enumeration.
Codes :

1) (@), (b). (c) 2 (b). (c), (d)

@) (@), (b). (c). (d) 4) (), (b), (d)

In which year United Nations Development Fund (UNDF) was renamed as United Nations
Fund for Population Activities (UNFPA) ?

(1) 1969 (2) 1968
(3) 1967 (4) 1966

Which among the following is an indirect anti-natalist policy ?
(1) Providing information about breast feeding

(2) Raising age at marriage

(3) Educating parents

(4) Provision of contraceptive services
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50.

51.

52.

53.

54,

=1 § @ e w1 fop Slifaer &7 ¥ 9/ & My &7 § WHANT &R foerd o fohar s
TehelT &7 2

(1) R wAfaa (2) foe=m

(3) eI (4) Ferer

Tl-1 T gelt-11 T GRS B | FZ F ATAH ¥ T SR H 95
=it - | =t - 1

(@) FggEaR (i) i S & Tect g

(b) S F 28 AT & ofieR (i)  4-52 7R & 9N gF

(TREeT) Gegelt
(c) e FaMeet gogan (iii) ST & 9gct 99 ¥ g7
(d) =Tet gogar (iv) SeR*1-499 H gy

FT

@ ® (@© (@
@ (i) @) @ (v)
(2 (i) @) (@) (v)
@) (i) (v) (i) (@)
@) (i) (i) (@v) @)

1 7 9 B W IR ‘37 faegd B’ R ISl o AR o (o0 STevde & ?
(a) r=dl I W dlichh &1 § I &l € |

(b) AR I=d ST A % WY T § |

(c) TR ¥ U Sa 1 Rar gifved i gieiid gar € |

(d) OReTOFT % qd SEH STaty § Gogdr S TR STUTHd H T € |

T

(1) (), (), (c) 2 (b), (c), (d)

(3) (@), (b), (c), (d) 4) (a),(b), (d)

TS g [ ®e’ (UNDF) 1 91 SEeieht [ |IeT “STEeE TMidreiedl o foig §ged T
%e’ (UNFPA) & faam 7 ?

(1) 1969 (2) 1968
(3) 1967 (4) 1966
=1 o 9 T wRieT v ferie it & 2

(1) U & IR o STHHRI 31

(2) faa= = 33 F@r

(3)  HreT-fuar it frfere ST
(4) TR SaTST B Ewn
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55.

56.

S57.

58.

59.

60.

Which one of the following mortality rates strongly affects the expectation of life at

birth ?
(1) Crude death rate (2) Infant mortality rate
(3) Age specific death rate (4) Maternal mortality rate

Which amongst the following diseases covered under immunization of children ?

(@ Kwashiorkor (b)  Diphtheria

(c) Pertusis (d) Tetanus

Codes :

1) (@, (), () (2 (a) (d), (b)

@) (d) (@), (c) 4)  (b), (c), (d)

Calculate the expectation of life at age 5 with the values of T, = 64,00,000 and
I, =95,000.

(1) 68.34 (2) 69.45

(3) 67.37 (4) 66.56

According to economist Leibenstein, there are economic advantages having children.

Select the correct combinations from the following :
(@ Consumption utility

(b) Work income utility

(c) Old age security utility

(d) Contribution to extended family utility

Codes :

(1) (a)only (2) (a)and (c) only

(3) (a), (b)and (c) (4)  (a), (b), (c) and (d)

Which among the following source cannot provide information on internal migration ?
(1) Census (2) Surveys

(3) Registration of vital events (4) Population Registers

Which one of the following combination of disease strategies are implemented by the

Ministry of Health and Family Welfare, Government of India ?
(1) Malaria and Dengue

(2) TBandHIV

(3) Cancer and Cardiovascular disease

(4) STDand HIV

Paper-I111 24
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55.

56.

57,

58.

59.

60.

=1 & & 3 | G ST S % TH STe bl W i SIRER & 9 Jifad et & ?
(1) 3Tt g & (2) FgEmR
(3) 3T MR gog X (4) HgHFIM

At H WIcRE0T 3 o 0 § | S-S | SEIar e i ST 6 2

() TFEARRHT (b) fewifer
(c) wfaw (d) =™

HT

(1) (@), (), (c) (2) (a), (d), (b)
(3) (d), (a), (c) 4) (b), (c), (d)

T, = 64,00,000 T |, = 95,000 % Hod % HATHR 5 Tt i 39 T e TR Hi TOFT L |

(1) 68.34 (2) 69.45
(3) 67.37 (4) 66.56

ITAEN ST &% 3R, 5=d 81 § 37k oy eid & | ffeifiad & @ et Has = ===
FHIT ;

(a) TN - IUFITTAT

(b) o - 3 ST

(C)  TETar TR SUATAT

(d) fereiie aRER Su=ifiten & e

% :

(1) & (a) (2) e (a) 3R ()

3) (), (b) =R (c) 4) (@), (b), (c) =R (d)
fefafiaa & @ -9 S 3TidNeE FodT & ) 3 STHHRI UG el Y Gehell ¢ 2
(1) SO (2) @I

(3) TETYOT HeAISN W USIEA (4) SIS ST (IRTERR)

frefefed & 9 6 SR WG S99 1 SEeee W ] IReaR g Jed, YR
TWHT g T Srar €2

(1) e a2

(2) el SR TEEE

(3) HER A &&F HeeHT I
(4) THIE AR THEEE
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61.

62.

63.

64.

65.

According to Census of India 2011 information which among the following states has the
highest proportion of slum households to urban households ?

(1) Chattisgarh (2) West Bengal
(3) Andhra Pradesh (4) Odisha

Which one of the statement is not true for demographic dividend ?
(1) Boosts per capita income

(2) Potential population of working age increase

(3) Transition to low fertility

(4) Lower mortality produce longer lives.

Match the items in List — I with List — Il and select the correct answer using the codes
given below :
List— I List—11
(@  Number of person years lived at ages x and older i M,
(b) Proportion of death for the age interval (x, X + n) (i) e,

(c)  Number of person years lived in the age interval (x, x +n)  (iii) T,
(d) Expectation of life at age x (iv) L,
Codes :
@ () ( (@
@ @ Gy (i) (iv)
(2 (i) (i) (v) ()
@) (i) (@) (v) (i)
(4) (iv) (i) (i) ()

Malaria is which of the following type of disease ?
(1) Water borne disease

(2) Air borne disease

(3) Polen borne disease

(4) Vector borne disease

Which among the following states has recorded highest number of new towns in 2011
Census ?

(1) Gujarat (2) West Bengal
(3) Maharashtra (4) Tamil Nadu
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61. WRA I STOAN-2011 F Gl o AR, Ffeiaa § | 69 Ts9 § TR aian & gor |§
T Sl & URERT T ST S € 2

(1) e (2) ufvem s
(3) enuwRwy (4) erErm

62. AT | & HH-91 U STHHIRRT AT & fof el el & ?
(1) vid =i o | gig
(2) FESR IH AT TN Bl STHEEAT H Ihag
(3) USHHAT @l 3T HHHT
(4) = g X 9 Erg Siaq g € |

63. el T TET g — || FF TR ¥ GHfAT T 3R A 53 T Fe W W ST FH TG HIC

= - | = - 1
(d) XU AT 3T eH IW W Sfad AT aut i G i M,
(b) U A &g GF (X, X + n) HT 3T (i) e,
(C) 3T RIS (X, X + n) W SHferT SAfSI-ast i T (i) T,
(d) XU H e yeamen iv) L,

%< .

(=N

@ ® (© (@
@ @ i) (i) (v)
(2 () (i) (v) ()
@) (i) (@) () (i)
@) (v) (i) (i) ()

64. HANET =1 @ fFQ TR T 9T € 2
(1) UH TA-SId SER
(2) G- SR
(3) TS WS (Tt i) SRt
(4) U W (IFIEH) SR

65. SFIUMT-2011 H F=feiad § 9 foa Tog 3 Faifies 73 e sl §& S S & ?
(1) TRE (2) urv=E" ST
(3) WeRTL (4) dfferrg
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66.

67.

68.

69.

70.

Arrange the following states, high to low, by their coverage of pregnant women with three
or more ante-natal check up (NFHS-3) :

(a) Kerala (b)  Tamil Nadu
(c) Karnataka (d) Andhra Pradesh
Codes :

(1) Kerala, Tamil Nadu, Karnataka, Andhra Pradesh
(2) Tamil Nadu, Kerala, Andhra Pradesh, Karnataka
(3) Tamil Nadu, Kerala, Karnataka, Andhra Pradesh
(4) Kerala, Tamil Nadu, Andhra Pradesh, Karnataka

The migration tables provided by Census of India does not give information on :
(1) Migration by gender (2) Migration by age
(3) Remittances send by migrants (4) Interstate migration

The sex structure of any population is determined by the past trends of
(1) Sex ratio at birth (2) Sexdifferential in mortality

(3) Sexdifferential in migration (4)  All the above

Match the following items in List — | with items in List — I1.

List—1 List—11
(@ Montreal Protocol (i)  Ozone depletion
(b) Rio-Summit (i)  Green House Gas
(c) Ramsar Convention  (iii) Convention on biological diversity
(d) Kyoto Protocol (iv) Wetlands Convention
Codes :

@ ® (@© (@
@ @ (i) (i) (v)
(2) (i) (i) (v) ()
@) (@) (i) (v) (i)
@) () (v) (@) (i)

What is the proportion of poor according to 68" Round of NSSO (2011-12) in India ?
(1) 20.9% 2) 21.9%
(3) 22.9% (4) 25.9%
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66.

67.

68.

69.

70.

Tt Afeerstt ot dF a1 d9 ¥ ST 9K u9a-qd st (NFHS-3) o 98y § = T i 359 °
11 o1 o et &Y

(@) (b) dfEerTg
(c) FARH (d)  tigwRST
w‘ .

¢ .

(1) T, AHEHTS, Fe, SIS
(2) arHeHTg, Y, YR, FAledH
(3) TrHEHIE, e, FHAEE, IR
(4) A, AHHTS, YU, FALH

YR <l STOET B <t 178 o= difetet FHefearad o 9 fhenl GemT UsH el il & ?
(1) Tor & R v (2) W % FTER vEET
(3) VETEAr FRT O T eF-U00T RFASAST)  (4)  STR-USAT vead

TRl STEEAT ot ifiTeh GOaeT fond fomma e gy i sl e & 2

(1) <9 % 99T @Rt 3T (2) g Tt Tadeeh (Fe Femi-erae)
(3) VoA H Wi favide (4) S T
et — | 9 <t T et b g — || 6 ST Wt % Wi gAferd ity
=t - | =it - 11
(a) HitZae AR (i) 3 % A Raieor (fewier)
(b) Rei brawwmem (i) esg
(c) THER FHAH (iii) St farfergar o A
(d) R Wi (iv) et i o T

B
@ @G (@© (@

@ @ ) (i) (iv)

(2 (i) (i) (@v) ()

@ (@) (i) (v) (i)

@ (i) (v) (@) (i)

IRA § UH.09.0. 37, % 689 IR (2011-12) F SR TRIST T AT foheT & 2

(1) 20.9 ufcera (2) 21.9 vfaer
(3) 22.9 ufqera (4)  25.9 wfaerd
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71.

72,

73.

74.

75.

Which among the following statements is not correct according to Esther Boserup ?

(1) In those times of pressure, people will find out ways to increase the production of
food by increasing work force, machinery, fertilizers etc.

(2) Slash and burn methods followed to clear fields to restore soil fertility.
(3) Food is not sufficient for everyone, the extra people have to die.
(4) Size and growth of population depend on food supply and agricultural methods.

Currently available population projections made by the Expert Committee on population
projections cover the projections for which of the following period ?

(1) 2001-2026 (2) 2006-2026
(3) 2006-2031 (4) 2011-2036

According to NFHS-3, which of the following major State of India (population > 20
million) has reported highest prevalence of spacing methods ?

(1) Haryana (2) Punjab
(3) UP (4) West Bengal

Given the following data for the year 2015 and assuming no migration, which expression
can be used to compute mid-2015 population ?

Data :

P = Population in the beginning of year 2015
D = Deaths in the year 2015

B = Births in the year 2015

Codes:
(1) 2P+B-D (2 P+3(B-D)
3) P+ 1 B 4 P+ 1 D

2 2

Arrange the following landmarks in India’s family welfare program sequentially, from
early to later years and select correct code using given below codes :

(@) Population policy

(b)  Universal Immunization Programme

(c) Child Survival and Safe Motherhood (CSSM) Programme
(d) Target free approach

Codes :
(1) (b), (c), (d), (@ (2) (a), (b), (c), (d)
(3) (c), (b), (d), (@) 4)  (b), (@), (c), (@)
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71.

72,

73.

74,

75.

TER SR % AR FEfARad § F HiF-91 %o el el € 2

(1) TaE & 9ET 9 off T B o, TRFRT, Seke S J gy S QR &l 3R 98 &
U e |

(2) TR AT IR W@ F o WAl B AE FA F d% GH P (FoA I8 e H ST
BAE |

(3) & A P fo1d IS qa el &, ARG ST Bl TAT BT |

(4) ST T AHR qAT Iy QT ST T4 H fafeai w R o2d € |

SEE vEqor i favesy gfafa g fear man aaem ° Suetsy SHEE v e 4 9 ey
AT HT Ha HIT & 2

(1) 2001-2026 (2) 2006-2026
(3) 2006-2031 (4) 2011-2036

T UF TF TG-3 (NFHS-3) % @R, 9Rd % {68 o8 19 (20 Fg ¥ SR Rl arel) §
THRY & felT etrer SU Tl S91ET T § 2

(1) eramn (2 v
(3) SWwwW (4) fvam S

Ifs o 2015 ¥ forw f=1 3fishe T MU & 3 g ware @ g7 &, af #eg 2015 i S
I UM T T A & AT The AT T STAT BT ?

ST

P= a4 2015% 3Ry § SHE@
D= a92015 H g& gog &&=
B= av2015% gu s

T4
(1) 2P+B-D @) P+%(B—D)
(3) P+3B (4) P+3D

IR o URER HeAT0T HEHH i 7 Tewaqol gt & 99 § 3MYE & T ° M | H h
TRl ¥ el 3T H T HY |

(a) SFEE A

(b) AT UTARI0T Ty

(c) e SiiferTar qar eI ARI (CSSM) FriseH

(d) e o
HT

(1) (b), (c), (d), (@) (2) (@), (b), (c), (d)
(3) (c), (b), (d), (@) 4) (b), (d), (c), (@
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Space For Rough Work
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